1-020 TARFEVEE R RS (2005. 3)
ACM
1. 3-1
Wo-Wy-
Wo(9) Wi(g) /2 mwy
4 285448 | 283262 | 0282 2094 | 842 | 235% | 0039 | 255 091
8 28617 | 283658 | 0608 2994 | 908 | 5078 | 0042 | 130 23
12 28594 28337 0.0662 2098 6.56 552 0031 276 329
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(N/mm2) | (N/mm2)| ()
0 38.31 54581 | 26.17
4 38.04 54.16 25.58
8 37.546 54.228 | 23.46
C 12 38 5434 | 26.54
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3-4  ACM
ACM ch01 | ACM ch02
Qdew[C] 0.33102 0.31973
Tdew[days] 28.81944 26.99306
Q[C/day] 0.01149 0.01185
Qrain[C] 2.25774 1.80213
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Quay=0.01149
Qqay=0.01185

ACM
Qday

0.039mm/y

CR=0.0427 mmly
CR=0.0433 mmly

ACM
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